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I y mwn: 2 similar rulings, the first less obvious than the 2d
a. setup: 3 brothers, 2 married to sisters and the third to an “outsider” (W)
i. case #1:B1 dies, B3 performs m1a» on S1, B3 dies
ii. ruling: S1 is N0 (vis-a-vis B2) as mwr mnr, W as nnax
1. note: if B3 had only done 1xn, W requires n¥’Yn (but not 0ya»)
2. observation (ypn2 77): if B3 had done nothing, W could have ma» with B2->7na »ar npt pr
iii. case #2: B3 dies, B1 performs ma» on W, B1 dies
iv. ruling: S1 is n704 as MVYR MNR, W as nnay
1. note: if B1 had only done 7mxn on W, she requires n¥’n (but not oa)
I 11 Mwn: setup: 3 brothers, 2 married to sisters and the 3™ to an “outsider” (W)
a. case #3: Bl dies, B3 performs ma» then S2 dies then B3 dies
b. ruling: S1 is still nmoR to B2, since she was nMoR at one point (when she fell the first time)
c.  reason: (27): any nn1 about whom I cannot state “i%y R’ nn2” (v. 1) at the point of n%a1 —
always nmoR
i. Justification (#1): 27's statement might only be applied to a case where she was always
nMoR throughout the time of the original n%9; if her sister dies before B3 performs
27, I might think that she is not mn%y nnox
ii. Justification (#2): in spite of ruling that 2 brothers, married to 2 sisters, and B1 dies and
then S2 dies, S1 is still nmoR to B2 — only teaches since she was totally “rejected” from
“household” of B2; unlike out case, where B3 was able to take her in.
I 2t mwn: setup: 3 brothers, 2 married to sisters and the 3 to an “outsider” (W)
a. case #4: B1 divorces S1 then B3 dies and B1 performs ma» on W and then dies —
b. ruling: B2 may perform ma» on W
c.  reason: as per X:R —any of the (15 n1y) who die or are divorced, the mnx (e.g. W) are 1mn
i. observation (?&~ “7): reason for allowance is that divorce (B1->S1) preceded death of B3
ii. inference: if B3’s death (i.e. n%991) preceded divorce, nmor
iii. implication: npr v’ — even if there are 2 brothers
iv. complication: challenges jnn1 *7’s assertion above (I a ii 2)
1. »ww 37 first case above — even if he didn’t perform 7nrn, still no ma», only nxon
a. defense: reason for introducing 9n&n - to counter v”a (M3 Pap NP IRN)
2. ppn1’7. our case: even if B3 died before B1 divorced — manmmn max
a. defense: exclusivity clause in our mwn to block w71 2"nKR1 012

i. meaning: if B3 died, B1 pa» W, divorced S1 then died, then
MIOR MR

ii. implication: 19N "1 must accept NP 7 that our mwn isn’t
authored by author of ®:X — and this mwn is excluding
v 2R ©1) which is included there; cannot accept K11
who maintains unified authorship and »np w 5"gx1 1

iii. implication: X171 must accept WX "’s read and ®n n
excludes w3 >"NRY NN
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